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654101

M.B.A. DEGREE EXAMINATION, NOVEMBER - 2022
First Semester

Logistics and Supply Chain Management

MANAGEMENT CONCEPTS AND ORGANIZATIONAL
BEHAVIOUR

(CBCS - 2022 onwards)
Time : 3 Hours Maximum : 75 Marks

Part A (10 x 1 = 10)

Answer all questions.

1. A study of human behavior in organizational settings
is

(a) Individual behavior

(b) Group behavior
(¢) Organizational behavior
(d) None of these

2. “Cognitive theory” of learning was given by
(a) Skinner (b) Pavlov
(¢) Tolman (d) Piajet

3. represent noblest thoughts, ideals etc.
(a) Ego (b) Super ego

(¢) Negative ego (d Id



Whose concept states that interpersonal and human

relations may lead to productivity?

(a) Elton Mayo (b) F.W. Taylor

(c) Henry Fayol (d) Max Weber

Determining how tasks are to be grouped is part of which
management function?

(a) Planning (b) Controlling

(¢) Leading (d) Organizing

As per  Stimulus-Response Model, input for
behaviour process is

(a) Drive (b) Organism

(¢) Stimuli (d) Response

is once view of reality.
(a) Attitude (b) Outlook
(c) Perception (d) Personality
1s the process of screening out information that

we are uncomfortable with or that Contradict to our
beliefs

(a) Perceptual context
(b) Halo effect
(¢) Selective perception

(d) Stereotyping
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10.

11.

12.

13.

—  is the attractiveness of the members
towards the group or resistance to leave it

(a) Group norms

(b)  Group behavior
(¢)  Group cohesiveness

(d)  Group structure

Communication that takes place among members of work
groups at the same level is known as

communication.
(a) diagonal (b) upward
(c) grapevine (d) lateral

Part B (5 x 5 = 25)

Answer all questions, choosing either (a) or (b).

(a) Interpret the Functions of management.

Or
(b) Describe Taylor’s Scientific Management.
(a) Elucidate the Steps in Planning Process.

Or
(b) State the Importance of Vision Statement
(a) Infer the Benefits of Departmentalization.

Or

(b) Examine the mneed of Coordination in an
Organization.
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14.

15.

16.

17.

18.

19.

20.

21.

22.

23.

(a) Classify the Types of Learners in an Organization.

Or
(b) Evaluate the Components of Attitude

(a) Show the Characteristics of Group Behavior.

Or
(b) Elaborate the Stages in Interpersonal Relationship.

Part C (5 x 8 =40)
Answer any five questions.
(each answer should not exceed Two pages)

Discuss the Contribution of F.W. Taylor towards the
Field of Management.

Explain Elton Mayo’s Hawthorne Experiment and its
Impact on Management.

Appraise the Techniques of Decision Making.

Categorize the Types of Planning Premises. .

Describe Line and Staff Relationship with a neat Sketch.
Examine the Factors influencing the Personality.

Compare Maslow’s theory of Motivation with Herzberg’s
Two Factor Theory.

Elaborate the Stages of Group Behavior with examples.
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R7761 Sub. Code

654102

M.B.A. DEGREE EXAMINATION, NOVEMBER - 2022
First Semester
Logistics and Supply Chain Management
MANAGERIAL ECONOMICS
(CBCS - 2022 onwards)
Time : 3 Hours Maximum : 75 Marks
Part A (10x1=10)

Answer all questions.

1. The basic economic problem 1is the problem of

(a) Abundance of resources
(b)  Scarcity of resources

(¢) Human Resources

(d) None of the above

2. Implicit Cost refers to
(a) Marginal cost
(b) Total Average Cost
(¢)  Opportunity cost of resources
(d) None of the above

3. In case of demand, a slight change in the
price will make greater change in demand.
(a) Inelastic (b) Elastic

(¢) Perfectly elastic (d) Perfectly inelastic



“Law of wvariable proportions” 1is also known as

(a) Law of Diminishing Returns
(b) Law of Increasing Returns
(¢) Law of Constant Returns

(d) None of the above

In “Perfect competition” products are

(a) Heterogeneous (b) Homogeneous
(¢) Differentiated (d) Augmented

A country that does not trade with other countries is

called economy.
(a) Open (b) Closed
(¢) Independent (d) Close ended

In “Imperfect competition”, Factors of production are

(a) Perfectly mobile (b) Perfectly immobile
(¢ Both(a)and (b) (d) None of the above

If savings exceed investment then
(a) National income rises

(b) National income falls
(¢) National income is not affected
(d) No change

The low point in the business cycle is referred to as the

(a) Expansion (b) Boom
(¢) Trough (d) Peak
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10.

11.

12.

13.

14.

15.

Maximum Profit arises in a

(a)
(b)
(©
(d)

Dynamic economy
Static economy
Neither (a) nor (b)

None of the above

Part B (5x5=25)

Answer all questions, choosing either (a) or (b).

(a)

(b)

(a)

(b)

(a)

(b)
(a)

(b)
(a)

(b)

Examine the Nature of Managerial Economics.

Or

Inspect the Role of Managerial Economics in
Business Decisions.

List the types of Elasticity of demand.

Or

How to calculate the Price Elasticity of Demand?
Explain.

Classify the Types of Cost Function.
Or
How to avoid Diseconomies of Scale?

How are Price and Output determined under
Monopoly in the short run?

Or
Describe Risk-Bearing-Theory of Profit.
Name the Factors of Macro Economy.

Or

Mention the Components of Balance of Payment.
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Part C (5x 8 =40)

Answer any five questions (each answer should not exceed 2

16.

17.

18.

19.

20.

21.

22.
23.

pages)

“Managerial economics is the integration of economic
theory with business practices for the purpose of
facilitating decision- making and forward planning by
managers”. Explain.

Define the term “Demand” and discuss the factors
affecting the demand of a product or service.

Explain the Concepts of Opportunity Cost.

Examine the role of Elasticity of Supply in Business
Decisions.

Distinguish between perfect competition and monopoly.
Explain price determination under Perfect Competition.

IMlustrate the Properties of Cobb and Douglas Production
Function.

Elaborate the Phases of a Business Cycle with example.

What is Inflation? Determine the Causes of Inflation.
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M.B.A. DEGREE EXAMINATION, NOVEMBER - 2022
First Semester
Logistics and Supply Chain Management
ACCOUNTING AND FINANCIAL MANAGEMENT
(CBCS - 2022 onwards)
Time : 3 Hours Maximum : 75 Marks

Part A (10x1=10)
Answer all questions.

Choose the correct answer

1. The concept of separate entity is applicable to which of
following types of businesses?

(a) Sole Proprietorship
(b) Corporation

(c) Partnership

(d) All of them

2. Profit and loss account shows the

(a) Profit earned or loss suffered by the business
(b) Total capital employed
(¢) Profit and loss through the sale of assets

(d) None of the above



Which of these is not a component of the final accounts?
(a) Balance sheet

(b) Trading Account

(¢) Profit and Loss Sheet

(d) Transaction receipts

Employees Stock Option cannot be issued to

(a) Managing Director

(b) Permanent Employee

(¢) Contractual Employee

(d) All of them

Which of the following is technique of financial statement
analysis?

(a) Common size statement
(b) Comparative statement
(¢) Trend analysis
(d) All of the above

The technique of converting figures into percentage in
some common base is called

(a) Ratio analysis
(b) Common size statement analysis
(¢) Trend percentages

(d) None of these

9 R7762




10.

Which of the following is not true about Capital

Budgeting?

(a) Capital Budgeting decisions have an influence on
the future stability of an organisation

(b) Capital Budgeting decisions include investments to
expand the business

(¢) Capital Budgeting decisions are of an irreversible
nature

(d) Sunk cost is a part of Capital Budgeting

Which of the following is true for a project with a shorter
payback period?

(a)
(b)
(©
(d)

The project will have more Net Present Value

The project will have less Net Present Value
The project carries a greater amount of risk

The project carries a lesser amount of risk

Which of these is not a part of Capital Structure?

(a)
(b)
(c)
(d)

Equity Shares

Debentures
Short-term borrowings

Bonds

The process of financing the assets of a business is known

as:
(a)
(b)
(©
(d)

Asset Structure
Owners Structure
Financial Structure

Capital Structure
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11.

12.

13.

14.

15.

Part B (5 x 5=25)

Answer all questions, choosing either (a) or (b).

(a)

(b)
(a)

(b)

(a)

(b)

(a)

(b)

(a)

(b)

What is Financial Accounting? What are its
objectives?

Or
Sketch the scope of Human Resource Accounting.

What is Employee Stock Option? Explain the
accounting procedures regarding that.

Or

What do you understand by ‘Alteration of Share
Capital’?

What are the limitations of Funds Flow Statement?
Or

What are the tools used in Analysis of Financial
Statement?

Why money has time value? Explain.
Or

Point out the advantages and disadvantages of Pay
Back Period Method.

Explain various forms of Dividend.
Or

Point out the issues in Working Capital
Management.
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16.

Part C

Answer any FIVE questions.

(5 x 8 = 40)

The following is the trial balance of Rubika & Co., Ltd.,

as at 30th June, 2022.

Particulars
Stock, 30th June, 2021
Sales
Purchases
Wages
Discount
Furniture and fittings
Salaries
Rent
Sundry expenses
P & L Appropriation A/c on 30t June, 2014
Dividends paid
Share capital
Debtors and Creditors
Plant and Machinery
Cash and Bank
Reserve
Patents and Trade mark

Total

Ps.
75,000

2,45,000

50,000

17,000
7,500
4,950
7,050

9,000

37,500

29,000

16,200

4,830

Ps.

3,50,000

5,000

15,030

1,00,000
17,500

15,500

5,03,030 5,03,030

Prepare Trading, P&L A/c P&L Appropriation Ale for the
year ended 30t June, 2022 and balance Sheets as on that
date. Take into consideration the following adjustments.
(a) Stock on 30th June, 2022 was valued at Rs. 82,000. (b)
Depreciation on fixed assets @ 10%. (¢) Make a provision

for income-tax @50%.
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17.

18.

19.

20.

Explain the differences between Financial, Cost and
Management Accounting.

Shrivathsun Limited was incorporated on 1st March 2015
and received its certificate of commencement of business
on 1%t April, 2015. The company bought the business of
M/s. Shri & Co., with effect from 1st November, 2014.
From the following figures relating to the year ending
October 31, 2015, find out the profits available for
dividends: (a) Sales for the year were Rs. 6,00,000 out of
which sales upto 1st March were Rs. 2,50,000. (b) Gross
Profit for the year was Rs. 1,80.000. (¢) The expenses
debited to the P & LA/c were

Rent Rs; 9,000; Salaries Rs. 15.000; Directors’ fees
Rs. 4,800; interest on debentures Rs. 5,000; Audit fees
Rs. 1,500 ; Discount on sales Rs. 3,600; Depreciation
Rs. 24,000 ; General expenses Rs. 4,800; Advertising
Rs. 18,000 Stationery and Printing Rs. 3,600 Commission
on sales P.s. 6,000; Bad debts (Rs. 500 relate to debts
created prior to incorporation) Rs. 1,500; Interest to
vendor on purchase consideration up to 1st May, 2015
Rs. 3,000.

Explain the procedure for Alteration of Share Capital.

The following is the trading and profit and loss account of
Pani Ltd for the year ending on 31st December 2021,
followed by the Balance sheet of the company.

PROFIT AND LOSS ACCOUNT

To Opening Stock 5,80,000 By sales 30,00,000
To Purchases 24,40,000 By closing stock  6,20,000
To Gross Profit 6,00,000

Total 36,20,000 Total 36,20,000
Liabilities Rs. Assets Rs.
Share Capital 28,00,000 Fixed Assets 22,00,000
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Reserve and Surplus  2,00,000 Stock 6,20,000

Bank Overdraft 1,40,000 Debtors 3,20,000
Creditors 6,00,000 Bank 8,00,000
Profit for the year 2,80,000 Cash 80,000
Total 40,20,000 Total 40,20,000

21.

22.

23.

On the basis of the above data, you are required to
calculate the following ratios and interpret them as
briefly as possible.

(a) Current Ratio (b) Gross Profit Ratio (¢) Quick Ratio
(d) stock Turnover Ratio (e) Debtors’ Turnover Ratio.

Explain various techniques of capital budgeting
evaluation.

Discuss the differences between Funds Flow Statement
and Cash Flow Statement.

Prepare an estimate of working capital requirement from
the following information of a trading concern.

Projected annual sales 10,000 units

Selling price Rs. 10 per unit

Percentage of net profit on sales 20%

Average credit period allowed to customers 8 Weeks
Average credit period allowed by suppliers 4 Weeks

Average stock holding in terms of sales requirements 12

Weeks

Allow 10% for contingencies.
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R7763 Sub. Code

Time : 3 Hours

654104

M.B.A. DEGREE EXAMINATION, NOVEMBER 2022.
First Semester
Logistics and Supply Chain Management
BUSINESS ENVIRONMENT

(CBCS - 2022 onwards)

Part A (10x1=10)
Answer all questions.

Relaxing the restriction and controls imposed on
Business and industry means

(a) Privatization (b) Liberalization
(¢) Globalization (d) None of the above

1Is an economic system based on the
principle of free enterprise.

(a) Capitalism (b) Socialism
(¢) Mixed Economy (d) Marxism

Which among the following is not the instrument of
monetary policy?

(a) Cash reserve ratio (b) Statutory liquidity Ratio
(¢) Deficit financing (d) Open market operation
Which one is not an element of internal environment?
(a) Marketing capabilities

(b) Operational Capabilities

(¢) Money and capital market

(d) Personal Capabilities

Maximum : 75 Marks



If the amount claimed by consumer is Rs.89 Lakhs, the
case under the consumer protection act shall be filed with

(a) District Consumer Redressal forum

(b) State consumer Dispute Redressal Commission

(¢) National consumer Dispute Redressal Commission

(d) None of the above

Consumer protection in India is ensured by
(a) Consumer protection Act, 1946

(b) Consumer protection Act, 1986

(¢) Consumer protection Act, 1990

(d) Consumer protection Act, 1968

Marketing intermediaries are categorized

Environment.
(a) External (b) Micro
(¢) Macro (d) Remote

Monetary policy in India is framed by
(a) RBI

(b) Ministry of corporate affairs

(c) Ministry of finance

(d) Planning commission

under
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10.

11.

12.

13.

14.

Export promotion is concerned with
(a) Privatization (b) Globalization
(¢) Liberalization (d) Peak

Privatization of ownership through sale of equity share is
called

(a) Contracting (b) Disinvestment
(¢) Denationalization (d) None of the above
Part B (5 x5=25)

Answer all questions, choosing either (a) or (b).
(a) Show the Importance of Scanning the Environment.
Or
(b) List the Benefits of Globalization.

(a) Examine the Impact of Political Stability in
Business Environment.

Or

(b) Inspect the need of Public-Private Participation in
E-Governance.

(a) Analyze the GDP Trend of India for the past Five
Years.

Or

(b) Examine the Role of Financial Institutions In
Industrial Development.

(a) Explain the Emergence of Entrepreneurs in the
Society.

Or

(b) Appraise the Impact Environmental Policy on
Innovation in Clean Technologies.
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15.

(a) Specify the Components of Legal Environment.

Or

(b) Why Renewable Energy is important for the future
in India?

Part C (5 x 8 =40)

Answer any five questions. Each answer should not exceed two

16.

17.

18.

19.

20.

21.

22.

23.

pges.

Evaluate the different Dynamic Factors of Environment.
Elaborate the Fundamental issues captured in PESTLE.

Examine the role of Government 1in Business
Environment in India.

Evaluate the Industrial Policies and Promotion Schemes
related to Business Environment in India.

Discuss the role of Central Bank in Economic
Development of a Country.

How do social and cultural factors affects businesses in
India? Elaborate

Describe the types of Technology Transfers adopted by
Indian Business Firms.

Explain the history of Patent Law in India.
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R7764 Sub. Code

654105

M.B.A. DEGREE EXAMINATION, NOVEMBER - 2022
First Semester

Logistics and Supply Chain Management

PRINCIPLES OF LOGISTICS AND SUPPLY CHAIN
MANAGEMENT

(CBCS - 2022 onwards)
Time : 3 Hours Maximum : 75 Marks

Part A (10 x 1 = 10)

Answer all questions.

1. Logistics is the part of supply chain involved with the
forward and reverse flow of
(a) Goods (b) Services
(¢) Cash (d) All the Above

2. Which of the following is not a part of supply chain
management system?
(a) Supplier (b) Manufacturer
(¢) Information flow (d) Competitor

3. Which of the following is not an area to responsibilities
for a logistics manager?
(a) Inventory (b) Marketing
(c) Warehousing (d) Purchasing



Which of the following is not a component of 4 PL?
(a) Information

(b) Control room

(¢) Resource providers

(d) Recycling

is the time that elapses between issuing
replenishment order and receiving the material in stores.

(a) Replenishment time

(b) Lead time
(¢c) Idle time
(d) Replacement Time
refers to supply chain practices that strive

to reduce energy and environmental footprints in terms of
freight distribution.

(a) Inbound Logistics
(b) Green Logistics

(¢) Outbound Logistics
(d SCM

Break-Bulk warehouse performs function.

(a) Warehousing (b) Collecting
(¢) Sorting (d) Purchasing
is concerned with a firm’s ability to satisfy
customer’s requirement in timely manner.
(a) Minimum Inventory
(b) Quality
(¢) Price stabilization

(d) Rapid Responses
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10.

11.

12.

13.

14.

Re-order level depends upon two factors, lead time and

(a) Inventory (b) Warehouse
(¢) Safety stock (d) Procurement

are used for vertical movement of

materials, generally from one floor to another.

(a) Conveyor belts (b) Cranes

(¢) Elevators (d) Towlines
Part B (5 x 5 = 25)

Answer all questions, choosing either (a) or (b).

(a) Describe the Scope of Logistics.

Or
(b) Infer the Objectives of Logistics Management.

(a) Show the Nature of Supply Chain Management.

Or
(b) Write the four areas in Supply Chain Management.

(a) Examine the Role of Material handling in Logistics.

Or
(b) Interpret the Benefits of Logistics Information
System.
(a) State the Functions of Third-party logistics
providers.
Or
(b) Outline the Critical issues in Logistics Service
Contrast.
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15. (a) Why is Benchmarking important in Supply Chain?
Describe.

Or
(b) Distinguish between Lean and Agile Supply Chain

Part C (5 x 8 =40)

Answer any five questions each answer should not exceed two
pages.

16. Describe the Role and Importance of Customer Service in
Logistics.

17. Elaborate the decision Phases in Supply Chain
Management.

18. What are the value-added services of a Warehouse?
Explain.

19. Discuss the Evolution and Growth of Supply Chain
Management in India.’

20. Categorize the Types of Inventory Management with
Applications.

21. Illustrate the Components of the Logistics information
System.

22. Discuss the Pros and Cons of Logistics Outsourcing.

23. How a Flexible Supply Chain Delivers Value? Elucidate.
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R7765 Sub. Code
654106

M.B.A. DEGREE EXAMINATION, NOVEMBER - 2022
First Semester
Logistics and Supply Chain Management
OPERATIONS RESEARCH
(CBCS - 2022 onwards)

Time : 3 Hours Maximum : 75 Marks
Part A (10 x 1 = 10)
Answer all questions.
1. Operations research analysts do not
(a) Predict future operations
(b)  Build more than one model
(¢) Collect relevant data
(d) Recommend decision and accept

2. For analysing a problem, decision makers should
normally study its

(a) Quantitative aspect
(b) Qualitative aspects
(¢) Both (a) and (b)

(d) Neither (a) nor (b)



A constraint in a LP model restricts
(a) Value of an objective function
(b) Value of a decision variable

(¢) Use of the available resources

(d) All of the above

The original linear programming problem is known as

problem.
(a) Primal (b) Simplex
(¢) Integer liner (d) Duality

When an assignment problem has more than one
solution, then it is

(a) Multiple Optimal solution
(b) The problem is unbalanced
(¢) Maximization problem

(d) Balanced problem

An assignment problem will have the following solution:
(a) Optimal (b) Unique

(¢c) Multiple (d) All of the above

Which one of these variables is a binomial random
variable?

(a) Time it takes a randomly selected student to
complete a multiple choice exam

(b) Number of textbooks a randomly selected student
bought this term

(¢) Number of women taller than 68 inches in a random
sample of five women

(d) Number of CDs a randomly selected person owns
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10.

11.

12.

The normal approximation to the binomial distribution is
most useful for finding which of the following?

(a) The probability P(X = k) when X is a binomial
random variable with large n.

(b) The probability P(X < k) when X is a binomial
random variable with large n.

(¢) The probability P(X = k) when X is a normal
random variable with small n.

(d) The probability P(X < k) when X is a normal
random variable with small n.

A bank transaction or grocery store checkout counter is
an example of system.

(a) Single Phase (b) Double Phase
(¢) Multiple Phase (d) Entry Exit

A 1s one of the operations research tools
that can be used to assist management in making
decisions under uncertainty.

(a) Scheduling (b) Decision tree
(¢) Simulation (d) Queuing theory
Part B (5 x 5 = 25)

Answer all questions, choosing either (a) or (b).

(a) Scan the development of operations research.

Or
(b) What are the scope of OR in Management?

(a) Write the structure of Linear Programming Model.
Or

(b)  Sum up the limitations of Liner Programming.
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13.

14.

15.

16.

17.

18.

(a) What is unbalanced assignment problem?
Or

(b) How is the Hungarian method for obtaining solution
if the matrix is rectangular?

(a) Explain the advantages of Probability in business
management.

Or
(b) Explain any ONE of probability distributions.
(a) Explain the characteristics of MMI queuing model.
Or
(b) Highlight the advantages of simulations.
Part C (5 x 8 =40)
Answer any five questions.

Elaborate various types of mathematical models of
Operations Research.

Elaborate the role of computers in OR.
Define and explain the following:

(a) Optimum Solution

(b) Feasible Solution

(¢) Unrestricted Variable.
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19.

20.

21.

22.

A manufacturer of garments plans to add 4 regional
warehouses to meet increased demand. The following
bids in lakhs of rupees have been for construction of the

warehouses.
Contractor warehouse

A B C D
1 30 27 31 39
2 28 18 28 37
3 33 17 29 41
4 27 18 30 43
5 40 20 27 36

A manufacture of garments plans to add four regional
warehouse to meet increased demand. Find the optimum
solution.

Elaborate the steps of MODI method.

On an average. 6 customers arrive in a coffee shop per
hour. Determine the probability that exactly 3 customers
will reach in a 30 minute period, assuming that the
arrivals follow Poisson distribution.

After your yearly checkup, the doctor has bad news and
good news. The bad news is that you tested positive for a
serious disease, and that the test 1s 99% accurate (i.e. the
probability of testing positive given that you have the
disease 1s 0.99, as is the probability of testing negative
given you don’t have the disease) The good news is that
this is a rare disease, striking only I in 10,000 people.
Why is it good news that the disease is rare? What are
the chances that you actually have the disease?
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23.

Trucks at a single platform weigh-bridge arrive according
to Poisson probability distribution. The time required to
weigh the truck follows an exponential probability
distribution. The mean arrival rate is 12 trucks per day,
and the mean service rate is 18 trucks per day.
Determine the following: (a) What is the probability that
no trucks are in the system? (b) What is the average
number of trucks waiting for service? (c) What is the
average time a truck waits for weighing service to begin?
(d) What is the probability that an arriving truck will
have to wait for service?
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